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s ! HE | AR AT | 2H
=a— R b Lk R (kg) _EE A B | %l 7 i (B4
30100 |72 A 30 3, 564 119 119 119 BHA 304
Y3002 |=H {£47) 8 9,936 1, 944 540 540| BN 8kg
31200 |UF3E 5 1,890 76 76 76| B 2538
Y3014 |RAR3E 3 864 54 54 54| b 167
31700 | ¢ L 10 1,080 1,080 1,080 1,080 B 17—
31800 i 3 h AR 13 6,066 162 162 54| BB PN B3H
31900 ¥ 2 1,620, 864 864 756 | BN 2ke
31420 |&3E 5 745 54 54 32| B 17
34100 [#JK 7 983 32 32 221 B 334
34500 |&—- 11 4,196 400 400 400|559 11kg
Y3038 |2 ‘ ? 115 8,910 119 76 B4 | &P 115ke
36200 |BHHE 4 648 162 162 162| &Y 4kg
37200 [ L x 948 12 2, 268 270 173 1731 &M 12kg
34800 [88< 5 12 9, 812 97 76 65{ &P 118% w b
36340 B LA B 10 1,836 184 184 184| B/ 10kg
Z1030 | RFEF 1,100 28 28 - 28| 404
71032 | R+ (GR) 1, 056 22 22 L&A 804
71040 (3B AHE 770 77 77 77\ B 104
21305 | W hw.b 1,518 165 185 121 B5HY 1084
30100 WA M 54 6, 480 108 108 18| ERE 607
30100 72\ I A B 60 3, 888 756 756 432|BIR B 645
30300 | \B 2L 30 9,072 3,024 3,024| 3, 024[duHEE 3 —2A
30300 | AB L 100 26, 136 2, 808 2, 592 2, 592 | iLHEE 104 — A
31100 |AE M 150 9, 288 1, 080 864 864|BIE B 104 — A
31100 |H3E B 105 4, 320 864 648 324\ FEIR G Tir—2R
31700 |3 w2 30 4, 860 1,620 1, 620 1, 620 BEA 3r—=
31700 |% %~ - - 70 5,508 1,620 648 648|fEIR B 7o A
31800 HESHAE 4 2, 808 140 140 140 | B-18 2042
31950 A4 & 2 L 9 6,804 2,268 2,268] 2,268 R 3r—=
31950 | A E S 24 8,640] 1,080] 1,080 1,080/BRE 84—
34300 At 3L 20 7,344 1,836 1,836 1, 836 |fE4 45— A
34400 | b= b 24 7,776 1,728 1,728 540 |g84< GAr—— A
34400 | b= b 2L 4 3,240 3,240 3, 240 3, 200|BIR S Vr—2=
34100 &M 6 1,620 162 162 162 | Bl 104%
34100 &AL _ L 80 17,820] 1,512 1,512 1, 404[fEA 124 — =
34100 18R M 5 1, 404 1, 404 1, 404 1,404\ BEIR B 14— A
34100 |@AK C M 20 4, 752 1,188 1,188 1, 188 Efy 44— R
34200 [RIIK 18] 3, 089 324 324 281 | dbgid 10kg
34500 |E—=> 5 2, 160 56 86 86| i 25%%
36200 (HEHE 2L 100 17, 280 1,728 1, 728 1, 728 | b 104 — &
36210 |A—2 A v () L 50 7,020 1, 404 1, 404 1, 404 | F 5Ar— 2
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a—F mh Sy R (kg EFE M) =il i SE i (B 1)
33400 |1 ¥ = 30 6,998) 130 108 108 i 604
33600 |»%E Y 0 1,298 648 648 648 |2 245
31310 [(AHPFE 4 1,512 76 76 54 |1& W 2048
31500 M 16 5, 643 76 70 70| 1@ 804%
37560 (ISIEE 1 2,722 281 270 270| X% 10230 &
38400 |2 DEH 6 3, 240 3, 240 3,240 3, 240 | Vor—=
38521 |[BAR L LE 3,240  3,240) 3,240] 3, 240[%% I L — A
40100 |AibrA 120 20, 646 2, 592 2,592 1,908 | BB 12— A
40100 |F02 A B 30 6, 048] 2,376 1,944 1, 944 |REA 3r—
43707 \BLHE L 10 1,782 1,782 1, 782 1, 782 Ea L&r— 2
45000 1.5 ¥ 5 1 648 324 108 8|7 AUH 4w d
49200 |34 VT v b 16 1,922 281 108 10817 ¢ U 11348
Y5006 (E55F (B51) 90 37,854 4,266)  4,158] 4,168 @1k 94— 2R
Y5006 | ZHIR (B4h) 70 26, 568 279 279 246 | IR B 1008w 2
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